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J|2=2] 9,600,000 11,500,000

ATEH 604,323 86,515
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J|Ef==< 35,877 36,414

A 10,241,760 11,622,929
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ST 2,000,000 3,500,000
OFAMLHSTHE 1,000,000 1,500,000
sasETe 700,000 1,000,000
SHSEAAF - 500,000
SsHABHES 1,000,000 1,000,000
SlEAT 200,000 200,000
EHOIMM 1,000,000 1,000,000
I ESNE] - 1,000,000
SIEIES 300,000 300,000
S0 = 100,000 100,000
SIRAL 200,000 200,000
N 100,000 100,000
B 100,000 100,000
SCHARI N - 500,000
S[/ES=ES 500,000 500,000
S CH AE2IOHOY|LA K| A ABIE 500,000 -
EIBICHOIZEA 700,000 -
S22 AHIA 700,000 -
SHAA A 500,000 -
=] 9,600,000 11,500,000

_26_




2 O
—_ M

A & A
A 102120172 18 12 2H 20174 128 31Xl
H92l2016E 18 1€FH 2016 128 312Xl

SIANZ : THEHH QI OFAFE B0l D@l (=ERE-)
At 4=2l(F=4415) - 10,241,759,460 11,622,929,087
I, ArH| 9,516,980,464 12,719,900,409
QI24d|(Z=4d 16) 2,909,628,906 3,740,469,426
EIXZ0(F4410, 16) 203,926,193 316,220,017
S2EMH|(FA 16) 399,171,380 453,997,254
nsEgdl 17,575,000 46,373,200
ol ImE=la] 37,907,054 29,338,987
S4l| 82,921,244 93,137,551 | -
>=CZEY| 109,118,000 120,148,440
H20B2(F4 16) 106,107,920 53,877,545
ZIHA2HH|(F:407, 16) 636,495,991 741,487,885
SETHAAR|(FA18, 16) 41,848,235 53,291,579
XIZLXE(FA 16) 321,617,836 414,222,326
N sl 27,522,300 19,779,900
HEz 35,534,979 23,839,031
=SSN s ] 36,154,580 36,813,124
2eH| 12,568,295 22,628,305
S MQIAMHI 132,010,247 192,703,316
gt=3|9/| 1,514,008,344 2,303,877,416
2E2EH| 112,132,068 139,874,015
AR ESHI 413,985 =
9| 12,470,460 =
S| 108,294,917 407,955,411
= 1,169,042,548 1,256,874,140
22| 48,278,340 26,056,800
SH=SHA| 255,908,674 455,774,909
ELESH| 13,026,412 14,486,886
L] 112,684,282 170,142,944
by NLls] = 73,791,000
GHEZAHI 155,159,914 354,070,000
Zai| 904,661,360 1,157,625,002
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ZH| 791,000 1,044,000
Il AFHOI2(4Y) 724,778,996 (1,096,971,322)
IV. AliQl=2! 16,859,095 16,815,595
0| Rt 1,936,474 1,964,668
£|ZIZ0| K42 3,273,691 5,400,129
Q&I 846,000 -
SE XA 20/ 9,999,000 -
HI|2F4+F0(2 - 2,024,680
&2 803,930 7,426,118
V. AlgieiHl2 3,768,731 61,697,914
IRSHAIYEHISEY(FAN) 1,986,474 1,964,668
Q|&kxtE 132,249 -
L= 1,700,000 500,000
M LF+HELY = 59,230,676
Al 8 2,570
VI. HOINIHISRIZA2=0(|2(£4)) 737,869,360 (1,141,853,641)
VIl HOIHIS(F413) = =
VIl ZD120]2(24Y) 737,869,360 (1,141,853,641)
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